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4 N

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/pOib.txt")

dat2 <- subset(dat,complete.cases(dat)); rm(dat); attach(dat2)

mwt <- tapply(wt,sex,mean); swt <- tapply(wt,sex,sd); IS <- c(1,2)+0.15

layout (matrix(c(1,2,5,5,1,2,5,5,3,3,6,6,4,4,6,6),4,4))
hist(wt[sex=="F"],main="000000000\n0000",xlab="00 (kg)",xlim=c(45,80))
hist(wtlsex=="M"],main="000000000\n0000",xlab="00 (kg)",x1lim=c(45,80))
qgnorm(wt [sex=="F"] ,main="00000000\n0000000",ylab="00 (kg)",ylim=c(45,80))
qqline (wt [sex=="F"],1ty=2)

qgnorm(wt [sex=="M"] ,main="00000000\n0000000",ylab="00 (kg)",ylim=c(45,80))
qqline (wt [sex=="M"],1ty=2)

levels(sex) <- c("O0O","O00O™")

boxplot(wt~sex,main="00000000000",ylab="00 (kg)",ylim=c(45,80))

stripchart (wt~sex,method="jitter",vert=T,main="00000000", ylab="00 (kg)",ylim=c(45,80))
points(IS,mwt,pch=18); arrows(IS,mwt-swt,IS,mwt+swt,code=3,angle=90,length=.1)
detach(dat2)
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